	Компоненты действия сложения 


	 1 сла      2 сла        

гаемое   гаемое    сумма

    5     +      3       =    8


   сумма чисел               
            
	     1 слагаемое + 2 слагаемое = сумма
1 слагаемое = сумма  –  2 слагаемое

 2 слагаемое = сумма  –  1 слагаемое

	Компоненты действия вычитания 


	 умень      вычи        раз

шаемое   таемое   ность
   6      -       2     =      4

разность чисел
	уменьшаемое – вычитаемое = разность
уменьшаемое = вычитаемое + разность   

вычитаемое = уменьшаемое  - разность
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